

$$r^2 u'' - au + \varepsilon = 0 \quad k \Rightarrow \frac{r}{r} \rightarrow r^2 \times \frac{\varepsilon}{r} - \frac{r}{r} a + \varepsilon = 0 \xrightarrow{r^2} r^2 \varepsilon - ra + r = 0 \quad \boxed{a=1} \quad (1)$$

$$k \Rightarrow r^2 \xrightarrow{x} r^2 r' = \frac{\varepsilon}{r} \rightarrow \boxed{r' = \frac{1}{r}} \quad k \Rightarrow -\frac{r}{r} \rightarrow r^2 \times \frac{\varepsilon}{r} + \frac{r}{r} a + \varepsilon \xrightarrow{r^2} \boxed{a=-1} \quad (2)$$

إذا كان r متغيراً

$$r^4 u'' - (m+12)u + 1 = 0 \quad \alpha\beta = \frac{1}{r^4} \quad \alpha + \beta = \frac{m+12}{r^4}$$

$$\frac{1}{\sqrt{\alpha}} + \frac{1}{\sqrt{\beta}} = \omega \rightarrow \frac{\sqrt{\beta} + \sqrt{\alpha}}{\sqrt{\alpha\beta} \frac{1}{r}} = \omega \rightarrow (\sqrt{\beta} + \sqrt{\alpha}) r = \alpha + \beta + r\sqrt{\alpha\beta}$$

$$m r^2 + r u + r \xrightarrow{n=-1} \text{...} = -r$$

$$\frac{r \omega}{r^4} = \frac{m+12}{r^4} + \frac{1}{r^4}$$

$$\frac{1}{r^4} \rightarrow \boxed{m=-1} \quad (3)$$

$$r^2 u'' + k u' - au - r = 0 \quad \alpha + \beta = 1 \quad \alpha\beta = -r$$

$$u' - u - r = 0 \rightarrow u = r$$

$$u = -1 \rightarrow (r(-1)) + k + a - r = 0$$

$$-r + a - r + k = 0 \rightarrow \boxed{k = -r}$$

$$u'' + 4u + a = 0 \quad \alpha < \beta < 0 \quad r^2 u'' + r^2 \beta' = 1r\sqrt{r} + 1 \omega \quad a = 8$$

$$r^2 u'' + r^2 \beta' = r^2 (\alpha'' + \beta'') + r^2 (\alpha' + \beta') = 0$$

$$r^2 (\alpha'' + \beta'') + r^2 (\alpha' + \beta') = 0 \rightarrow r^2 (\alpha'' + \beta'') + r^2 (\alpha' + \beta') = 0$$

$$-2a + 4\sqrt{4-a} = -2 + 1r\sqrt{r} \rightarrow \boxed{a=1}$$

$$u'' - v u' - a = 0 \quad u' = z \quad S = 0$$

$$z' - v z - a = 0 \rightarrow D = 4a \rightarrow z = \frac{v \pm \sqrt{4a}}{v} \rightarrow u' = \frac{v \pm \sqrt{4a}}{v}$$

$$P = u' u = \frac{v \pm \sqrt{4a}}{v} \rightarrow P' = \frac{2a + v\sqrt{4a}}{v} \rightarrow \boxed{r P' = 2a + v\sqrt{4a}}$$

$$r P' - r x x P + 0 = r P' \leftarrow S = 0$$

$$r u^r - a u + b = 0 \quad (x+1), (y+1) \rightarrow \alpha \beta + \frac{1}{r} (\alpha + \beta) + \frac{1}{\Sigma} = \frac{b}{r} \rightarrow -r \frac{1}{\Sigma} + \frac{1}{\Sigma} = \frac{b}{r}$$

$$r a x^r + a u - y = 0 \quad \alpha, \beta \rightarrow \alpha \beta = \frac{-y}{-r} \quad \alpha + \beta = -\frac{1}{r} \quad \boxed{a=1} \quad \left[\frac{a b}{\Sigma} \right] = -\frac{r}{\Sigma}$$

$$\frac{a}{a} (u^r - u) - b = 0$$

$$\alpha \beta = \frac{-b}{a} \quad \alpha + \beta = 1$$

$$(x+\beta)^r = \alpha^r + \beta^r + r \alpha \beta$$

$$1 = \alpha^r + \beta^r - \frac{r b}{a}$$

$$r_0 \beta^r + r_0 \alpha^r - r_0 \beta = 1 \quad \alpha = 1 - \beta \quad r_0 \beta^r - r_0 \beta + r_0 = 0$$

$$a(u^r - u) - b = 0 \quad \xrightarrow{\frac{a}{r_0} \beta} a(\beta^r - \beta) - b = 0 \rightarrow$$

$$a \left(\frac{-r}{r_0} \right) = b \rightarrow \frac{-b}{a} = \frac{1}{r_0} = \alpha \beta$$

$$|\beta - \alpha| = \sqrt{(\alpha + \beta)^r - r \alpha \beta} = \frac{r}{r_0}$$

$$\frac{u^r - (a+1)u + a}{u^r - \epsilon u + r} = 0 \quad \xrightarrow{\frac{u^r}{u^r - \epsilon u + r}} 1 \rightarrow \alpha \xrightarrow{\Sigma} \Sigma \quad \rho = \mu$$

$$\frac{u^r - (r a + 1)u + b}{u^r - 10u + b} = 0 \rightarrow \Sigma = 10 \quad \begin{matrix} \nearrow \Sigma \\ \searrow r \end{matrix} \rightarrow b = r \Sigma \quad \Rightarrow \underline{r_1} \rightarrow \mu$$

$$\rho = r \Sigma$$

$$u^r + u - 1 - m^r = 0 \quad \alpha^r + \beta^r = r$$

$$\alpha \beta = -1 - m^r$$

$$\alpha + \beta = -1 \rightarrow (\alpha + \beta)^r = \alpha^r + \beta^r + r \alpha \beta$$

$$1 = \alpha^r + \beta^r - r - r m^r \rightarrow \alpha^r + \beta^r = r + r m^r \rightarrow m = 0, r^r$$

$$m: u = \underline{\mu}$$

$$u_s = \frac{u A + u B}{r} = -1 \quad y = r \quad y = a(u+1)^r + 1 \rightarrow a u^r + r a u + (a+1) = 0$$

$$\alpha^r + \beta^r = (\alpha + \beta)^r - r \alpha \beta = 0 = \epsilon - r \left(\frac{a+1}{a} \right) \rightarrow a = \frac{-r}{r}$$

$$y = \frac{-r}{r} (u+1)^r + 1 \xrightarrow{\text{log}} y = \frac{-r}{r} + 1 = \frac{1}{r}$$

$$\alpha + \beta = -r \quad \alpha \beta = \frac{a+1}{a}$$